£ F OB FZB OE
LI FE
= B2 A A 4 Zk A< = +
7:50~8:00 & #& .
(B - K~8:15) B - BiEV
(% DO Hh~8:25) EAE T
8:20~ RM&/ARZ | pyps ne #E RE%E #eE #eE
8:30~8:40 3% FE | .
8:40~8:45 BN E DL DL DL Hng Hos Hoe
8:45~ g:30 | A% B%F | 6 I | 6 21 30
9:35~10:20 2 BB 2 7 | 2 | 7 22 31
10:20~10:40 PR
10:40~11:25 3B 3 8 | 3 | 8 23 32
[1:30~12:15 LB 4 q | 4 | 9 24
12:15~12:55 w B
SEAR 2 —s%—
12:55~ 1:10 & 1R BiR A
|2:55~
[:10~ 1:25 BAR A [:25
YAI-944
1:30~ |:45 YEY 21, 29(1/3) 29(1/3) 29(1/3)
|:45~ 2:30 5 1R EF 5 1 0 5 20 25
2:35~ 3:20 6 KABF 28 26 £BS 217
757
XEES (R£EZES) REZER
2:40~3:25
X757
2:40~3:40

XEYVa—LIE, 55, 6FFIIRET KEH - REEH - BTV, 3BT -EUKBYT %,
4FFIIKER - REERICEREE, @HBAICEKEITIZ
3FFILKER - @ERICEBZLTI LR L, 3EMT—REABMLET 3,

tERAY L, 3SMT—EMUKHYLT 5,




